Corrigé DM n° 7 groupe des loups

Exercice 1
1) Ona:

2) L=ANT
3) O=AUT
4) Ona:

p(0) =p(A) +p(T) —p(ANT)
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p(d) =35

5) N=AnNnT=AuUT =0
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Exercice 2
1) Ona:
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D)=p(FNF)=ox o=~ p(A) = p(F N F) = 2 x 2 = =
PD)=p(FNF)=cxo=—ipA) =pFnF)=cxo=—
D et A ne sont pas contraires car p(D) # 1 — p(4)
39
p(U)=1-pD) = ol
Exercice 3
Gargon Fille Total
Chez ses parents 250 300 550
Chez des amis 530 370 900
AU restaurant 70 80 150
Total 850 750 1600
9 _ 300 3 _ 1000 5 J 1530 153
P(@)=1500 16 PP = Te00 =16 ° P = 1600 8 P = 1600 ~ 160



